Pack 2 Week 1 Answers:

Day 2:

Reading: Custard the Dragon pg 4

1.
2.

The cat is black.
He has sharp teeth, spikes on the top, scales,

a mouth like a fire place, a chimney nose
Arithmetic: Sheet 2

and daggers for claws.

. He breaths fire.

So that it rhymes with Belinda.

. Because a dangerous pirate had just climbed

through the window.
She hugged him which shows she loves him

and is proud of him.

. He is proud of himself and feels brave when

protecting Belinda.
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Maths: Subtraction
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Complete the subtractions.
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Complete the colculations.
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1 P T a Complete the modals.
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o A family has £22 658 In the bank.
o mr Hall has written thase subtroctlons on the boord.

They spend £3,600 on a holldoy.

How much money do they hove left? 45,541 - 25,8865 68,345 — 34,758
Rosle's workings Whitney's workings

25 865 6 8 9 4 5

- 4 55 41 - 347 5 B
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o It Is 10,553 miles from London to Sydney. Explain the mistakes that Rosle and Whitney have made.

It 1= 8,929 miles from Mew York 1o Sydney.
How much further away Is Sydney from London than from
New York? o Complete the subtractions.

a) 10,004 — 9,995 =

miles

b) 10,000 - 6,727 =




€) 15,923 — 0,098 =

How did you work this out?

Is there another method you could wse?

e Teddy ond Jock are ploying a computar game.
Teddy scores 55,800 polnts.
Jack scores 36 475 polnts fewer tham Teddy.

How many points does Jack score?

How many polnts do they hove altogethar?

a Here are some digit cards.

1 5 8 9

Ron makes a 4-digit numbser with the cards.
Eva makes a 4-digit number with the cards.
The difference between thelr numbers |s betwean 1,000 ond 3,000

What numbers could Ron and Eva have made?

SPaG: Day 2 Questions

© Choose words to show that the order of the sentences below is correct. You can
use a combination of conjunctions, prepositions and adverbs to express time.
(The first one has been done for you.)

..................... he put the tea bag in the mug and boiled the water.
..................... he poured the boiling water in the mug.

..... When  the tea had brewed he took out the tea bag.

LFnally  he added milk and sugar to taste.

(Award 2 marks for 3 appropriate choices. Award 1 mark ar teachers discration. Answers may varn)

O Use the possessive pronouns in the box to complete the sentences below.

yours mine thelrs
Arthur took my pen even though he knew it was mine.
Zoe and Ayesha said that the cat was ... thelrs.
| found this scarf on the playground. | think it is yours.

{Aweard ) mark forall 3 correct)

€) The sentences below are written in the present tense. Write the past tense of the
verbs on the dotted lines.

| give chocolates to my mum on her birthday.

"—\l (Awenrd 2 miarks for 2 corredt. Awand 1 mavk for 1 correct)



